3. Bending Moment

A

Y ¢ . llr
111' lll]ltll' I"I{'t\.\'{'l'l‘l '1' Ve lors R “”fl

! ; . N T . \1-
with magnitudes Jj and 4 respe tivel
and a - b= 2J3 is

(A) T; (13) n;
on
©) & D) >

. - . 110WT1 ns
This dam of Haryana is also Ki

Gravity dam

(A) Hathnikund

(B) Anagpur dam -

(C) Sannihit sarovar S
= 74

(D) Badkhal

M.) at supports in
[Brted beams is always

(B) Negative
(D) Minimum

case of simply suppo

Which of the following is not a SQL

DC - 2021

1. VAR o 1y s Trm g JN oy
- o
A0 o HhHe2 R R B I C 7 T
W1 RN T

K

(A) o) () T;
3 on
“ ] M “” )
2. wion a aw ai ULze IO A R R At
EIGIEY
(A) Thafrgz
/@ ST A
(C) Afafed aman
(D) FTz@d
3. TIUTUTE: STaTad T F 184 § A3o1
(A) stiaran (B) ===
(C) 7IA (D) =IFH
4. =W F-91 UF SQL AT 2 7
(A) T (B) 12 =
(C) T D) Tewie
5. frefefiad d 8@ SF-51 89F=
serfireg TeweAl & Wam i @
' =
(A) T B < .
(C) =TT 9T (D) FH ° F0E

6. am i e T Wt Ui o
(HARCO) ¥ Y HA B ¢ i
(A) 3Ttfae ATed

/[13) el STl )
(C) Tged 37Tt DAL
(D) SRR A AT i

(A) AT B) s

4.
constraint ?
(A) NULL (B) NOT NULL
(C) UNIQUE (D) DEFAULT
5. Which of the following handlooms
uses geometrical designs ?
(A) Lungis (B) Durnes
(C) Bagh Shawl (D) None of these
6. Whoisthe Current Chairman of Haryana
State Co-operative Apex Bank (HARCO) ?
(A) Arvind Yadav
(B) Geeta Bharts
(C) Rahul Uppal
(D) None of the above
7. In which Aestivation the members of |
a whorl (sepals or petals) lie close to
L‘.dtlh other W"llh{]l]t any gvﬂr]apping of
their margins ?
A) Valvate (B) Twisted
(C) Imbricate
21000017
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8. 2" Battle of Tarain was fought in

(A) 1182 (B) 1102 E;,Z;Eﬂ
AT (AN
¥ ii

(C) 1162 (D) 1172

Width of foundation should not be less
than ___for single storey building,
(A) 750 mm (I3) S00 mm

(C) 900 mm (D) 1 m

9.

10. Rabindranath Tagore renounced his
Knighthood' as an expression of pamn
and anger against the incident of
(A) Chaun Chaura
(B) Partition of Bengal

(C) Jallianwala Bagh Atrocitics
(D) Partition of India

11. Ifin a certain language SISTER is coded
as 535301, UNCLE is coded as 84670
and BOY as 129, how SON is coded ?

(A) 342 (B) 524
(C) 923 (D) 872

On which date, the Indian Govt. sct
up the Shah Commission under the
Chairmanship of Justice J.C. Shah
to divide and setup the boundaries of

Punjab and Haryana ?
(A) 23" May 1966

(B) 23 April 1966

(C) 25" June 1966
(D) 25" August 1966

13. In topology, each node 18
connected to two other devices, onc

each on cither side.
(A) Ring
(C) Bus

(B) Star
(D) Mesh

Siraj-ud-daula, the Nawab of Bengal
defeated by the British in the Battle of
Plassey in the year

14,

) 23 73 1966 “r
//)% 23 30 19663 Di;%%@
[ ‘

DC - 2021

RS EARIDT |
) 1192
(D) 1172

8., AT W AN
(A) 1182
(C) 1162

9. i) Thz;ré ":'-fﬂi"fT’l UG ?'?I
0 e T AC L2 | AL

(A) 750 mm (B) 500 mm

(C) 900 mm (D) 1 m
10. Tefizerg 2 A £ srzn F fFma b

=3 3iv iy A whEfE F w1 ARz
#H 3mfy e @ 4 |
(A) =T =T
(B) #ITEA 1 s
C) Sferiaren am FerFe
(D) 3T ] favre

11. UFWMIH SISTER &I FZ 535301, UNCLE
1 F2Z 84670 3T BOY F1F7 129 2, SON
1 e wEn g e s mm ¢ SN
(A) 342 ) 524
(C) 923 (D) 872
Frg Fafa R ST TR A =TT = . 3L
£ 1aed 1 TR AT TS A E

) Hmmd Fatfe F73 & fau s @

12.

-

C) 25 57 1966 s

(D) 25 31T 1966

(A) 1765 (B) 1756
(C) 1764 (D) 1757
21000017

13. Sreeh H, e ATe % T
11 I A g1 B 2 |
() o (B) &R
o) = (D) ¥
14 m%mﬁm-m#ﬁwﬁm%
g, 1 i farfem 20 w0 T A
(A) 1765 (B) 1756
(C) 1764 l/DJ 1757
3-

Lt AN
A ey
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15. The value of i' + i 4 i

18
(A) 1 (B) - 1
C) O (D) 2
16. According to Sacchar formula, which
among the following districts of Haryana
came under Hindi area ?
(A) Gurgaon
(B) Hisar
(C) Rohtak
(D) All of these
17. command is used to create

a ncw object at a specified distance
from an existing object or through a
specified point.
(A) Prolong
(C) Mirror

(B) Trim
(D) Offset

18. The type of mirror used by dentists to see
larger images of the teeth of patients is

(B) convex
(D) plano convex

(A) plane
(C) concave

19. A and B are siblings. A 1s daughter of

C, but Bis not son of C. E 1s the father

of D and Grandfather of B. D is the

brother of G. G 1s not married. How i1s
CrelatedtoD ? &6

(A) Husband  (B) Wife o
(C) Sister

(D) None of these

The amount of the filtrate formed by
the kidneys per minute is called

(A) Proximal filtration rate
(B) Distal filtration rate

(C) Glomerular filtration rate
(D) Henle’s loop filtration rate

20.

21. This town 1s considered to be the

political capital of Haryana
(A) Kurukshetra (B) Ambala

(C) Ynmunanagar (D) Rohtak

A
21000017
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15. i'+i"4 i+ i FIAAR
) | (B) =1
©) 0 D) 2

16. T e F AgET fefetad 5 A v
(A) T
(B) femm
(C) TIZd

/u:))imlﬁ
17. FATZ F1 TAT UF HI5E1 35 T
s e fig & v= fafd 20 i v 12 7
/ﬂ]ﬁﬁfﬂ B) fza
(C) T3

(D) #ATHAC
18. HiIsi = 3idi &1 Yidfes 721 % 2134 & o0
=d Tafereger 210 wam o <= =1 2901

TER B
(A) |HAT (B) 30
() T (D) FHAAM

19. A 3 B WiE-984 2 | A, C =l T 2, Tig
B,CH YA | E, D =1 fuar 2 3l
B#HITREI2 | D, GF MG R | G fHanfza 42
diCTHFR TR DB Hafuq 2 7

(A) 9fa (B) e
Q) TR (D) 399 H FE e
20. IFF A Ui e a4 Tt F=ig 6 aen
FEATd B
(A) THiTEy fere
(B) 34 FEIEA T
/(,c]ﬁmﬁpiaq_m
21. wwaﬁmﬁ TrSiAfae TSaTl F
ST 2
(A) FEe
(C) AT

e —

3TaTeAl
(D) TEa

'
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22. The 19" Asian Games will be hosted by 22. _1_9_31 I{lﬁlﬂlé TERW/T/ET?I-’/"(W ﬂBﬂ}i;“ o __\j?”" I
(A) Incha (B) Japan (A) A , _”+ |.||
(C) China (D) Indonesia (C) / (D) FEFE
i . % - 1 I
23. The is intended to detect the | 23 ﬁ ont HaT 9 FE0E F I
obstruction in the sewer, Wﬁ"ﬁ_aﬁl e
(A) Lamphole (A) E_‘i'lr:’.h*i
(B) Manhole /,,-(B} f‘:“—f'[“
| (C) Trap (g ?i?.
| (D) Vent (
24. What is the condition of stamen in which | 24. qehfl ﬁq;ﬂikii.'d%fii??ﬂ?ﬁ 2 o T+8L H
stamen does not have an anther ? T e gldl & !
(A) Astaminode (A) E*_*Eli_[ L
giag (B) Staminode (B) ’*%Eii' .
' ¢ (C) Fertile stamen /(C] E{ql T
\ " (D) Adnate staminode (D) TEe SILEIE
o 25. ‘This river is the tributary of Ghaggar | 25. J& 7 ¥R = HEF T e
(A) Sahibi (A) FTFE"‘ﬁ |
(B) Kaushalya _AB FIITeA]
(C) Yamuna %.— B (C) 9411 7
l (D) None of the above Of¥ (D Tﬂ'{iﬁﬂ 3 @lé Tal
26. Ifx-iy=3+4i then x*+y’= 26. 'ﬂﬁx—iy=3+4i€1,?ﬁx-’+y3=
(A) 7 (B) =7 (A) 7 (B) =7
(C) 25 (D) 5 (C) 25 /LD] S
27. One kilowatt hour is equal to 27. T fordEme g o qUE B |
(A) 3.6 x 10°J (B) 3.6 x 102J (A) 3.6 x 10°J \(B) 3.6 x 104
(C) 3.6 x 10°J (D) 3.6 x 10%J (C) 3.6 x 10 D) 3.6 x 10°J
| 28. Find the missing letters. 28. W AT Fd l
—baa__aa__aab__ __baa/ aa' aab___
(Al baba (B) aabb (A) baba (B) aabb
ED (C)bbab (D) abba (C) bbab W(p)abba
e -a
i <9. LSlUllanpu;- N_atinnal Park is situated in | 29, TrE‘{I'EI g &+ IS
i ) [;f’-‘h____ district of Haryana. 5 ford 2 |
. ) Y&munana
) gar A) AT
F‘D ¢ (B) Gu @ (A)
© Rewary = _AB) T
CWarj Y2 N (C) e
(D) Sirsa @ — (] - (D) faz ' b
Y, _ l,ﬂﬂ.*...-f}t'«-" .-'3
L ( 1\-‘]' & b 6 '
- !
21M11 'L A .ﬂ — n .5- \ 1 r A

\-{./“




30- Thc pﬂrti(}n of

Sllrfa(:e of th
and the surf

A .
:C]] 1;311{311 (B) Plinth
(D) Floor
31. inlelligl;: :chumannid that uses artificial
. » Visual data processing,
facial recognition and also imitates
human gestures and facial eXpressions.
(A) Siri
(B) Sophia
(C) Alexa
(D) None of the above
32. In the UN World Happiness Report, 2021
India placed at
) (A) 120™ Position
(B) 140" Position
(C) 125" Position
(D) 139" Position
33. Rani Kaur Ki Haveli is a famous location
for which among the following types of
painting ?
(A) Mughal (B) Rajput
(C) Gupta (D) Mural
34. Multiplicative inverse of 2 +11s
2 -] 2-1
(A) e (B) G
2+1 D ?_’2
@@ O 5 U
i
o

3%. Which planets of our solar system are
called as ‘Inner Planets’?
(A) Mercury, Jupiter, Uranus and

Satum
(B) Earth, Saturn, Mars and Mercury

(C) Mercury, Venus, Earth and Uranus

DC - 202

30. Wi &% % MM F wae 37 Ha 17‘].77{
A1e ATe TEel 6 % e A U H

1 VI T A |
/M) T (B) f‘:(_;l?aj
(C) fa= (D) W

Fefl 2 T A TENE S S amE
£ THA i FAR

/tB] H'_FEFE“
(C) Tl —
(D) I H H T3 T2l

32. é‘gaanqﬁqamqmﬁﬁé,zozlﬁm
&l W@ T

(A) 120 9 H

EiYE (B) 140 9 TIH

R (C) 1259 M

__(D) 139 9 ¥

33. Tt FR F gdeh Frefafaa @ 8 58 7
! el & fore v wfag M e 7

(A) et __B) T
(C) T 7 (D) T

34. 2+ i UITCHS HidaA™ 2

31.

2-1

(D) Mercury, Venus, Earth and Mars

21000017




36.

37.

38. Computer _

39. Arrange they

- Hn __2"
lim ——— = 80,

The value of n if
x—2 x-2
ne N 1s
(A) 4 B) 3
(C) 6 (D) S

The ancient site of Kunal and Banawali

is said to be located on the banks of
river
(A) Yamuna (B) Markanda

(D) Ghaggar

(C) Saraswall

is a nehwork security
system designed to protect a trusted
private network from unauthorised
access or traffic originating from an
untrusted outside network.

(B) Anti virus
(D) Cookics

(A) Spam
(C) Firewall

vords given below in a

meaningful sequence.
1. Police
2. Punishment

3. Crime

EzE
P 4. Judge

[=lts

40.

41.

5. Judgement
(A) 5,4, 3, 2,1
(C) 3, 1, 2, 4, 5

Which of the following lenses would
you prefer to use while reading small
letters found in a dictionary ?

(A) A convex lens of focal length 50 cm

(B) A concave lens of focal length 50 cm
(C) A convex lens of focal length S cm
(D) A concave lens of focal length 5 cm

B) 1,2,4,3,5
(D) 3, 1, 4, B, 2

In Haryana Star monument houses the
samadhi of

(A) Neki Ram

(B) Devi Lal

(C) Tara Chand

(D) Nawab Fadai Khan

T)(;__,Zﬁh
36. 71fi', lin }:h_,}'n
J:I-r'z -_2. #0) neNw -
0= = T ingy
1) 4 -
\ 3) 3
(C) 6 D) 5
37. FHUMEl 3 AAEA F U 1
Hﬁﬁﬂﬁmﬁﬁamﬁl -
(A) T3 (B) o= -
})W?ﬁ (D) =7
38, HALH T T T T
g@f*"@qgam%eﬁmﬁmﬂawﬁﬁmﬁm
& ma@mammmmm
) o
(A) &H _AB) T FJTH
(C) HET (D) FhTs
39. fﬁﬁqmwﬁiﬁrﬁmeﬁ%wﬁm
1. qied
2. G8
3. 3
4. AT
5. Bl
(A) 5,4,3,2,1 B) 1,2,4,3,5
C) 3,1,2,4,5 D) 3,1,4,5,2
()_‘_. (/l
40. wwﬁmnmm?ﬁmﬂmﬂ@_w
mﬁnﬁfﬁﬂﬁﬂﬁq—maﬁmm?
W)WmSOcmﬂﬁWaﬁ
lB]WﬁéSOcmﬁﬁmm
;C)qﬁﬂaﬂrﬁs(:mﬂ@maﬁ_
lD]W@ﬁchﬂ@mm
41 gﬁﬂm%mmﬁfﬁ*"“‘iﬂ%‘
(A) Tt TH
(B) <l @t
/(c] A =8
(D) T TR T
C
ﬂ( Y A
c A
- r.2 N1 8\ \ a0’ :




&

42. The two lines ax + by =
are perpendicular if

candax+by=c

(A) aa’' + by = Q
lE’*1 ab + a'bh' = 0
(C) ab’ = bga'

(D) ab'+ ab =0

) @ ax + by ¥ C AN a’x + by = .
(A) aa’ + bb" = 0
(B) ab+ a'b’ = 0
(C) ab' = ba’
) ab’'+ a'’h=0

43. uﬁmmmﬁwwﬁmﬂm

42.

43. operator in Pvthon cvaluates S .
to False if Sm variables on either side of 1 3l 3o Fd € a T H :
the operator point to the same memory ST TTedd =l JoATdh- Fdl & 31T 37T
location and Truc otherwise. gel &l |

(A) Is (B) Is not (A) Is B) Is not
(C) In (D) In not (C) In (D) In not
- e s
44. '‘Cow’isrelated to ‘Herd whereas ‘Lion’ 44. T w1 FAY GE qe, S I H FA
is related to EzE ﬁ 2 | _
(A) Colony (B) School Bl (A) FTeAT (B) TFa
(C) Hive (D) Pride (C) E’EL‘_S"AD) BIEES
45. Which among the following districts | 485. gfmmn & fF=faiaa 4 g fra fod =
of Haryana is known for its furnishing s ™ ﬁtﬂmﬁlﬁi% fau ST S @ 7
fabrics and carpets ? T _
(A) Panipat (B) Panchkula |gum 4A) RIEIRE (B) U=l
(C) Mewat (D) Hisar Feosl (C) HaTa (D) feur

46. RCN +SnCl, + HCl » RCH =

-+

H
NH ——— X. Xis
(A) R - CH, - NH,

(B) R - CHO
(C) R - NH,
(D) CH, - CH,

Which is the cleanest city in the Swachh
Survekshan 2021, by the Ministry of
Union Housing and Urban Affairs ?
(A) Indore

(B) Gurugram

(C) Patiala

47.

46. RCN +SnCl, + HCl - RCH =

-

NH —3——5 X|AX? RoerH!
(A) R_CHE—NH? P\-CHJ N He
(B) R - CHO scwi
(C) R-NH,

/yCH]—CHa
47. A A& AR el A F wEed 7
feRU 0 w==a TEEU 2021 T FH-TT T
Hegaq & ¢
/mléa"’ﬂ
(B) T
(C) wfedTe

(D) 39T § H IS 7]

(D) None of the above

21000017
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48. De

ilnll " :‘ . . | _
Catate animn) of Horvann is s 20721

A) Tiper whartom - | |
((‘) Figer (B3) Klephan fl (111 7y :;Jr[ﬂ:w[ 4
©) Black Buclk (D) None of the nhove i (1) 714

.1. _C) ) frg s
49- Il](l l]l‘[l“ ¥ I 'IJ] F"1 q II :_'".J‘ '-;-l
- ":i!; 1‘!111‘||] 1'!'{1!’!‘ }I;'tll- . - T e at A
abs plce in the | 49

e . O (T I A S
ence ol oxyeen is ealled EERS f{'f et 6 713 o ufm =
FTA D, |

(A) e, DE|
(B) Snafry vere

_AE) U TIL-11770 )
(1) Tt

(A) Acrobic respiration

13) Anacrobic respiration

C) Photosynthesis
D) Digestion

50. The points at which the tangents to | 50. '«ﬁ'ﬁ"’!‘?*f'.r}"r = %' = 2% + 18 31 7

the curve y = x'—- 12x + 18 are parallel Fd ATl T %- 943 F DO 770 B
. . +3 % 7t --Il"':-I

lo X-axis are é"?ﬁ
(A) (:}"i- 2]1 (- 21"34] {AJ [2,—2], ‘_ 2*'_341 R
(B) (0, 34), (-2, 0) (B) (0, 34), (- 2, 0)
(€) (2, 34), (-2, 0) (C) (2, 34), (- 2, 0)
(D) (2, 2), (-2, 34) //(p: (2, 2), (- 2, 34
51. This wildlife sanctuary is also known | S1. =5 Er—’ﬁf‘l'-l Zﬂu-:uf,:q 7 Baw 33 i ==
as Sconsar forest EIRIE ) rY r *
(A) Nahar (B) Saraswati (A) '-'-TEE"{ NP ) o AB) —-———1.:..,4:1
(C) Bhindawas (D) Chhilchhila (C) TzEm Y D) r-:;:f:i
52. Leastcountofthe instrument | 52. _ I &1 FHaH T 207 7 |
1s 20°. - N evel (A) LTS (B) B
(A) Theodolite | : e =
(C) Compass (D) Total station (C) =48 }' i

53. HTTPH J4 T

53. HTTP stands for A e 3 :: :

(A) Hyper Text Transfer Protocol B) T 7R e e
B4 (B) Hyper Transfer Text Protocol ] S g e
%E} (C) Hi,rpcr Text Transport Prutncni /:g) i o %IWE[ e ST |
(D) Hyper Transport Tex! 7% o e g o TR T ()
54. The total number of days goarantecd | 5% figfipm, 2005 T A F T ——
. -, cmplﬁymcnt that the Mahatma ! ' m%l
oo b National Rural Employmen! o5 e T G T €
G:IHJ'EU1[CC (MGNREG) AC[,ZUUS ASSUICES ﬁq lB] 365%
al people 1S (A) 150
to the rural p B) 365 days o D) 90 A
(A) 150 days ( P }) 100
(C) 100 days (D) 90 ¢ A
-9-
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SS.

56.

S7.

S8.

59.

60.

Roshan is taller than Hardik who s
shorter than Sushil. Niza is taller than
Harry, but shorter than Hardik. Sushil
18 shorter than Roshan.,

Who 1s the tallest ?
(A) Hardik

(C) Roshan

(B) Sushil
(D) Niza

Which among the following districts
of Haryana has maximum arca under
Moderately Dense Forest (MDF) ? E] ;32

(A) Panchkula (B) Kaithal Fie
(C) Karnal (D) Jind

is the process of sinking of
edge of one piece of timber into another
by cutting grooves across 1t grain.

(B) Housing

(D) Rebating

(A) Nosing
(C) Shooting

A soft iron bar is inserted inside a current
carrving solenoid. The magnetic field
inside the solenoid

(A) will decrease

(B) will increase

(C) will become zero

(D) will remain the same

In a group of 5 boys, Vasant is taller
than Manohar, but not as tall as Raju.

Jayant is taller than Dutta, but shorter
than Manohar.

Who is the tallest in the group ?
(A) Dutta (B) Jayant
(C) (D) Raju

Vasant

Who is the Current Lokayukta of
Haryana ?

(A) Hari Pal Verma

(B) Reva Khetrapal

(C) Nawal Kishore Agarwal
(D) None of the above

f

2 Ve
NN h orJ
(A we At DC - 2&11

v, FFER A TR, 50w g Y
f*r“:n i 7 T 7 A Rivs

55.

———————

AR —
v T AR Y

ol |

(A) 7 T, (B) H7iTA

/JJ'":‘ (D)
s6. e F FEEiEa 1 7 FE-m e g
T4 g4 (MDF) F Sa13 A3A0 a3 73 2 ¢

(B) F4e
(D) Si7

A) 9Hcdl
(C) FATA
aﬁmwzﬂ?umu F17H A
=g FUI o AX-UN HEHE T FEH HE0H
Hl Ula 2 |

(A) T (B) T3

(C) 31;%11 D) &=

we forgaemdl gfeTicrn = Sfia TF 93 T
mmm%lqﬁmﬁiﬂ%wﬁm

&1 ®

(A) Prat
B e

(C) Y[ &1 S

(D) T &

57.

S8.

5 TEH! % UH FIE | =4, TR E T e
qq 9] foamn s & @ I'Gf!‘q"ﬂ z:mﬂﬂ‘-ﬂ
R W TR B R

TR 1§ gad A« HH 2 7

(A) < (B) S
(C) T4 (D) T

=femon % adum e w6 7
);\)E’fwraa'rﬁ

(B) &1 @41

(C) Fae e JaTe

(D) I9Ta |/ g T

59,

60.
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| DC ~ 202,
61. Which of the following districts of | 61 v o £ .
Haryana is covered under Uttar “hmﬂ f:‘;lr';':[ffﬂfﬁﬁl 18 #H-m f £ T
Haryana Bijli Vitran Nigam Limited ? a7 ell Ve B forfryz A
(A) Bhiwani (3) Kaithal (A) Trarh 3 Fa
(C) Rewari (D) Mewat (C) Tar /(T)) H'IH
62. In Python is raised when the | 62, WA e wmn S v
file specified in a program statement T 2207 4 ffée wrm 2w A
cannot be opened. F | |
(A) SyntaxError (A) SyntaxError
(B) ValueError (B) ValucError
(C) IOError _C) 10Error P
(D) None of the above (D) I A H 71 T Eli}a
63. The type of writ issued when the Court | 63. fRF19z LEad ’I:’G Fﬁ‘-ﬁ‘l fT'i'l Elid L
finds that a particular Officer is not =T F1 31 #1491 7 H? ATTZR] A1
doing legal duty R o 7 fon 7 B
(A) Habeas Corpus (B) Prohibition (A) aﬁm&ﬁ?ﬁrﬂr (B) A4
(C) Mandamus (D) Certiorari /.LCJ TG — | (D) 375 5""_ 3
64. is primarily responsible to | 64. maﬁﬁmnﬁmm*ﬁ:nz?mm
implement Sarva Shiksha Abhiyan in shrmR & e = T w21
Haryana State. | )
(A) Mukhya Mantri Shiksha Deeksha /ﬁl E@:rq—,f'[ﬁ'{m IR
Parishad . :
(B) Haryana School Shiksha (B) et faeem fen T gis
Pariyojana Parishad : "
(C) Rashtriya Madhyamik Shiksha (C) T et e T
Parishad (D) 38 & FlE T
{ these
(D) None o - o 21T 3 7 ST 3T S
e data
65. occurs when sam = gauaqﬁ@'lﬁ l
maintained in different places do not I@’TQH“HE o
match. (A) S HATF
&1 (A) Data Redundancy /(E} crafes eI
(B) Data Inconsistency (€) cra e GUIE
V g  (C)Daa Isolation - (D) 2 Fniwen
| endence s ~
~ p (D) DataBepeH | o6, iy TA
M-  '66. Find the mirror image. . E
5 | | _
. AL | | (B) | LX
D T (A) | XT )
(A) | XT B = D) | 1X
/IE} IX —
©) | IX | (D) | 1X \ | —
-11-
1 7\ L




67. Window where shutters open like door
are called windows,
(A) Sliding (B) Sash
(C) Bay (D) Casement

68. Gurgaon-Manesar-Bawal region of
Haryana is famous for the production of

(A) Pharma

(B) Automobile

(C) Agro products

(D) IT products
69. Phosgeneis

(A) CaOCl,
(C) COCI

EiaE
e
=
(B) Ca(OCl),
(D) COCI,

70. The equation of the circle which passes
through the point (4, 5) and has its

centre at (2, 2) is
(A) (x=2)°+ (y—-2)? = 13
B) (x-2)2+ (y+2)?=13
(C) (x+2)*+(y+2)*=13
(D) None of these

71. Indian Institute of Corporate Affairs is

located at in Haryana.
(A) Murthal (B) Jassaur
(C) Kundh (D) Manesar

72. The position of the earth nearest to
the Sun is called as

(A) Apogee
(C) Aphelion

73. Horizontal distance between faces of
two consecutive risers is called

(A) Going (B) Nosing
(C) Effective span (D) Scotia

(B) Perigee
(D) Perihelion

74.

farmers to grow
(A) Kharif crops
(B) Flower

(C) Fruit

Haryana Govt. has setup an Indo-Israel
Horticulture Project at Karnal to enable

or aTraA Feerdl & |
A gt (B) HI_
c) (D) S8
68. el H( TSI -HHEL =T A
% Feq1EA 2 UGG o |
A FE Y
(B) #AT2HI=TSEA
(C) Ff1 IeTE
/l‘Dl ﬂéa@
69. WL UF 2 |
(A) CaOCl, (B) Ca(OCl),
(C) COCI (D) COCI,

70. 39 99 F1 GO w0 B, 51 f6g (4, 5)
H TS U 39E e (2, 2) T 7
X) (x-2)0+(y-2)"=13
B) (x-2)*+ (y+2)*=13
(C) (x+2)+ (y+2)*= 13

(D) H | I3 e
71, EEON A A FRARE FHE] 61§
HfeEe | "_W
) T (B)
(C) TSl (D) HHE
72. i = Frrean yei ) feufy
FEeTl © |
(A) =4 (B) 393
g’mﬁafmﬁ A
73. @l o e afes g
__ e § | -
(A) T (B)
) Shidea T (D) TR
74. TR A HEATA H U §81-590Ad
¥ wmd “%%U-ﬂ;ﬁ?ﬁ% ™
qHY 4T _ © | o)
(A) TEE T E%
(B) &t
(C)

(D) Unseasonal vegetables
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7S. Fill in the blank with

phrasal verbs
given below it

: Appropriate
rom the nltcrnnlivﬂﬂ

While digging, the farmer

pot full of golq coins, - -

(A) came upon

) came around
(C) came off
(D) came by

76. Fill in the blank with appropriate

conjunction from the alternatives
given below it.

The girl is clever

the boy i
dull. y M Rt
(A) but ) and
(C) or

(D) because

-

77. Fillin the blank with suitable collective

nouns from the given choices.

A of ships.
(A) herd

(B) fieet
C) crew

(D) quiver

.E_ngdi;h_Lnnguagu

DC - 205,

79, Fill;
Fill in the blank with ;
Prepositg + Propriate
Ston from the choices o
below it *5 Biven
He INSisted :
| ——— going there.
(A) in (B
(C) fc g
o
/LDI to
80. » l
The following sentence containg
E, & grammallcal crror or idiomatic error
¢ y , F P
ik In1t. You have to find oyt that part of
the sentence and choose the alphabet

of that part as your answer,

This institution was set up in memory

of Alfred who was by accident shot by
his son. *

(A) This institution wag set up in
memory of Alfred
) who was

(C) by accident shot by his son.
(D) No error

81. Fillintheblankwith appropnate concord
from the alternatives given below it.

Either Lily, Mary or she
passed.

(A) are ~p

) has
(C) were j

(D) none of these

78. Choose the right form of the verb given
@yam 1N bracket from among the alternatives
fec®l given below it and fill in the blank.

te 82. Choose the antonym of the given word

The sheep scattered in great frenzy in from the alternatives given below it.

the field for a wolf (enter). Benevolence
(A) enters (A) charitable
(B) has entered (B) malice
(C) had entered j /C) sympathetic
‘)D] entered (D) advance
13- L A

21000017
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83. @ifis- ﬁTI{‘;qu] 'I'V”mhrn
IS Fed § |

(A) T

(B) o

(C) U T

(D) 399 | =12 74

it Fwa |

firssft «rr

87, AT, S 5

‘)f\l T A%,

(F3) “AreA

|

() faarm
(1)) 700 41 %1% 4

BE. e a2z ay AUB 737
R AU R AR AR T "If".l- 5 foms 7
e IC 02~ 115, $457 w21 A 2
(A) faaryr2
(13) e
(C) #191
(1) 75 #2518 =+

89,  sAfq T v w6 e v
qq1 70 = {2 A (2) F F A
AN E |

/m] far.rrﬁ
(B) &I
(C) ¥

(D) T A =TS 7]

86. IvH H 37 T % 0l F 90. firhl i yFt wirg i I
FEAE | forand =ms e 2 | |
(A) @0 ml 7
(B) Al g" ) 1
(C) =1 (C) % >,
(D) Z7H A 18 7 (D) =1 6\‘/
A .. -14.
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